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I y-awraiR afRwr 2/ +2j+k & fa @
PIT P BISAT BT 7 &FT —

1
AA) = kA
A) (B) 3

"~ A 3

1
C) — D) —
(©) ) -
2. afd x=a 3R x = B FHPON cos’x +

acosx+b=0 3R sin’x +psinx+g=0 =f BI
AT &Y &8, @ a, b, p 3Rg H T

BRI —
(A)a+b2=p? + ¢
(B)a+p=b+q
.v(,(/})’b+q=az+p2—2
(D)b+g=a’+p’—q’v
3.

-

(A) a+b B)a-b

1 - — 1 - e
‘\M E[Q + b) (D) E(a Y. b)

4. m gqE @) el M gFE 3 UH

IgF 9 OIS o 7| IR el a5 B
u AIUET I F =, a1 Melt 3R T9H B

aRafdd T HHL: B —
Mu mu

M+m M+m

(M+myu (M—-mu,
M-m ~ M+m
mu Mu

M+m’ M+u

(M+mu (M+m)u
M-m ' M+m

(B)

©)

(D)
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The value of cosine of the angle between
the x-axis and the vector 2/ + 2] +k is :

2 1
(A) 3 (B) 3
(€) 1 D 1

2 )

If x = a and x = [ satisfy the equations
cos’x + acosx+b=0 and sin’x +psinx+g=0
both, then the relation among a, b, p and
g will be :

(A)a?+ b =p?+
(B)a+tp=b+q

(C)b+q=a"+p'-2
D)b+q=a’+p'~q’

If the posi.tion vectors of A and B are

- -
aand b respectively, then the position
vector of mid-point of AB is :

(A) a+b B) a—b
(©) %[Z + Ej D) %(Z - EJ }

A shot of mass m is fired from a gun of
mass M with velocity « relative to the
gun. The actual velocities of the shot and
gun are :
Mu mu .

(A) ,

M+m M+m
M+mu (M-m)u
B) ( ) ’ ( )
M-m M+m
mu Mu

M+m M+u
) (M+mu (M+mu

3

M-m M+m

(D

V. \ ‘:!?sz;‘,(‘om.”
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R sT—

3
“F2 (A R A (B ol S
. Y _AO) EES @ (D) Sudad # | BIg A

0
CE R S
cosx- cc»s[E + x)- cos[E = x) = l, xe [0,67\:]
3 3 4
& WERT Eell BT AT -
JA) 30n (B) 24n
(C) 18n (D) 12m4

8 Srad i-2)+5k 3R 3j -4k o g
P25+ 3k W FHE PR @ B IRomR
qd &1 fawg §+2]+3k @ uRa: wfew
T[0T B =
A)Si+ -4k B)5i-j-akY

() 3i+j-3k (D) 3 + j — 4k

9. THFEIO P+ +2gx+ 2y +¢ =0T
ve g @) fefia s 2, e aw(-
g, ) T e Jgt+fi—c Bar e[
S+ =c @ W, o e a9 # g @
FEd & -
(A) ARV g
(B) 1a-gd

) sy 79
\fgmﬁamaﬁ.}
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W 4.

fz Il—ledx is :

(B) 2
(D)4

(A)0
(©)-2

If pp q r, s are in G P. , then
1 1 1

are in
praqg’ g 4t +s
(A) A. P. (B) G. P.
(CH.P (D) none of these

The sum of all the solutions of the
equation

1
COS X COS —E+x - COS E—JncJ=-—,xE[0,61't]
3 3 4

is:

(A)30m -~ (B) 24n

(C) 18n (D) 12n

The vector moment about the point
i+2]+ 3k of the resultant of the forces

i—2j+5k and 3j-4k acting at the
point—2f+3}—£ is :

(A) 5i + ] — 4k (B) 5i - j—4k
(C)3i+]-3k (D) 3i + j -4k

The equation x* + )° + 2gx + 2 + ¢ =0
always represents a circle whose centre is

(g, -f) and radius is \g?>+ f2 —¢ . If g
+ £ = ¢, then in this case, the circle is
called as : '

(A) ordinary circle

(B) incircle

(C) degenerate circle

(D) none of these

\,'omuﬂ{kg Eri
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(Q?(-H)('L"(-f%) = (4 +S)(3t2)

'2}/F VL < t%-uq: |Q;t1+y(—*'5%+ 'o

e J0-3
N _ D

10 6x+7 4x+5
3x+2 2x+3

P EA B -~

B) x=-—

(A) x=1
11

11

o) 2=

1. afd f:R—> R @0 g: R - R 2 gfafemEo
TS S () = 2x 3R glx) = K42 R
aR¥IRT B, @ (F+ g)(2) T A9 8T -

(D) x=3

(A)8 _B) 100
(©) 12 (D) 24

12. - o o J .
afd OAd=a IR OB=b &, @ B4 &I
AE BT —
“{A)a+b (B) a
©) b ) a-b

130 af AABC Ha=8,b=153R c=177,
T cosA BT HI9 BN i—

15

B = v
8 17
©) 7 (D) >0

14. P 3R R Ta &M &I 30 faAi # P 3R Q
S B @ 45 AT § g Q 3R R I

8
(A) 5

PR = 1
*G—BLO 60 fai # qx1 BRI ¥ R bl IW fha
BT faat # g1 v ?
G- = Go gy W45 (B) 48 fa=t
2(prB+8J 8o (C)64fa7 \}Q)nﬁﬁ
13,1
PO+ :,/b};
- ASre)= 2x2 Y
5 7 RO a(r) = 442 +6
o uf .
3:’.0_ - g} 7@ =
260 Iko

10.

11.

12.

13.

}4.
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The solution of Gx+7_3x+3 is :

x+2 2x+3
(A) x=1 (B)x=—-—9—
11
(C)x:-u (D) x=3
9

If f:R—>Randg:R — R are two
mappings defined as f(x) = 2x and

g(x) = x*+2, then the value of (f + g)(2)
is:
(A)8
©) 12

(B) 10
(D) 24

If OA=a and OB=b , then BA is
(A) a+b (B) a

©) b D) a-b

Ifina AABC,a=8,b=15and c =17,
then the value of cosA will be

15
EBy
8 17

© 4 @) %

P and R can do a piece of work in 30
days, P and Q can do it in 45 days while
Q and R can finish it in 60 days. In how
many days can R alone finish the work?

(A) 45 days
(C) 64 days

(B) 48 days
(D) 72 days
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150 aft wRaer )* = dax R @) T QA
TRl & FH@HRT y + b =m(x +a) 3R y
+b=mz(x+a)%,a>Ti*-

(A) mym, =1 ABymim, =1/
C)m+my=0 (D) m;+m, =-1

16. to werw &1 &S aet W W W A
T wew SHarE o1 R 2 af v
BT UG T o &), A SHDT ISSTT HIe
BT — _

8u 4u /
A) — B) —
\) ) Sg ®) 5g
© 2 D~
g g

17. s B
afg tan(—z-] 3R tan[i) THIHRT 8x? —
26+ 15=09 F &, A cos(atP) &
HE BRI -

(A)0 (B) 1
1y 222
©-1¢ 725

8. [ > - - > -

[a b+ec a+b+c}3ﬂrﬂ=’f'&9ﬂ'ﬂi—
\/(A)O ' (B)[ZZZ]J
() 2[2 b Z] (D) 3[2 b Z}

19, d’y .

_ Wwﬁmdz-yﬁmﬁg-—
(A) Ere V(g)wm?rm‘ﬁ/

(C) Bramfd (D) SWad # 9 $E 7
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16.

17.

18.
(A0 (B)[ZEZ}
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Ify +b=m(x+a)andy + b =mx + a)
are the equations of the two tangents to
the parabola y* = 4ax, then

(A) mym; =1 (B) mim; = -1
C)m;+my=0 (D) m; + my =1

A projectile has range on a hon'gontal
plane equal to three times the maximum
height attained by it. If # be the veloqty
of projection of the projectile, then its
time of flight is :

8u 4u
(A) Eg- (B) g
© 2 o)

g 4

If tan(%) and tan(%} are the roots of

the equation 8x” — 26x + 15 = 0, then the
value of cos(a+p) will be
(A)0 @1

627

©)-1 (D) e

- 5 - > 5> o
The valueof |a b+ ¢ a+b+‘c:|is

©2[ab ‘| (D)s[lz' b 3}
The solution of the differential equation
d*y
de
(A) Oscillatory (B) Exponential
(C) Trigonometric (D) None of these

-y=0i1s

w2 sh S
)
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20.

21.

22.

23.

24. afs AABC % 4w BC &1 4 fag D &,

%

99 g4 @ B, Rrm a9 o

e aRmror 450 2 132 99, =9 Frear
g anft —
(A) 132 3%

(C) 164 99,

(B) 148 9+,
, o
N/(rf) 168 ¥+

afe fd) ﬁ'ﬂ'\_ﬂ PQR | 'ﬁﬁﬂﬁ p,q.r
NHIRR ’ﬁ'cﬁ | ﬁ, Fﬁcot—g cotg bl |1
BT —

(A)0 (B) 1~
©)2 Jp)s
afe 6 v af @ a9 R

W, @ 99 a¥ #53Waﬁﬁ
mﬁws’ﬂﬁ

) 7 NLE

7
=22y Fio)
© 366 (D)"53

TSN ax’+bx+c=0 3R ax® + bx+¢ =
0¥ T JoI SIS & BT g & —
(A) (ca-ac)’ = (ab — ba)

(B) (ca—ac)* = (bc — cb')«//
(C) (ca—ac)? = a(bc —cb)

D) (ca—ac)? = (ab - ba)) (bc—cb) v

ar AB*+ AC? &7 99 81T —
(A) AD*+BD* (B)AD+BD

2(AD? + BD?) (D) AD - BD
p

21.

22,

23:
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The radius of the circle in which a central

angle of 45° intercepts an arc 132 cm,
will be

(A) 132 cm
(C) 164 cm

(B) 148 cm
(D) 168 cm

If in a triangle PQR, the sides p,q,r are in

A. P., then the value of cotg cotg is :

(A)0 (B) 1
©)2 D)3

If any leap year is selected at random,
then the probability of containing 53
Fridays in that year will be

1 2
(A)— (B)'7‘
7
(C )% (D)'—

The condltlon of being one root of the
equatlons ax*+bx+c=0 and

ax*+bx+c =0 common is :

(A) (ca'—ac')z_ = (ab —ba)

(B) (ca—ac)* = (bc' = cb)

(C) (ca—ac)’ = a(bc — cb)

(D) (ca—ac)® = (ab — ba) (bc—cb)

If in a AABC, the mld-gomt of the BC is
D, then the value of AB*+ AC? is
(A)AD’+BD? (B) AD + BD

(C) 2(AD? + BD?) (D) AD —BD
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25. fo=ir fAfwa uem & unifay ek gita g
g Py I & midard s %aﬁq

%%lwﬁwaaﬁwﬁaﬁmﬁm
gy —

1 1
(A)z'/ (B)E

©)/5 ®) l

26. Wuﬁa‘aaﬁmﬁ(S—z)aﬁ?ﬁaﬁT
y =2x-9 %, ?hwq?mfmwvr

BT —
(A) x*+4y*+4xy+111x+2)+260=0
(B) x*+4y*+4xy+116x+2+260=0 <
(0 P +dy +axy+116x+2y+259=0
(D) 4x*+y*+4xy+116x+2y+259=0
27, Prefafes ofeel @ wRmE @
31,37, 43, 42, 25, 46,45, 39,32
(A) 25 (B) 42

C) 46 3

28. "
w" b-z%&r Jy_zaﬁﬁﬁ

quws‘imaﬁ a’TﬁaPaﬁm—

/@() (a b) (B) (b, 2)

(©) (1, 1) (D) [%r‘b) o

TG-07/D

25.

26.

27.

28.~

Probabilities to solve a certain problem
by Pragatl and Tripti are respectively
1

-3—and5. The probability that the
problem will be solved is :
1 1
A) — B) -
(A) > (B) 3
2 1
C) - D) —
© 3 O ¢

If the focus of a parabola is (-8,-2) and
the directrix is y =2x-9, then the equation

of the parabola is :

(A) x*+4y*+axy+111x+2y+260=0
(B) x*+4y +dxy+116x+2y+260=0
(C) x*+4y*+4xy+116x+2y+259=0
(D) 4x*+y*+dxy+116x+2y+259=0
The median of the following data is :

31,37, 43, 42, 25, 46, 45, 39,32

(A)25
(C) 46

(B) 42
(D) 39

n n

) X
The curve — + Z —=2touches the line
a

-:; - —21 =2 at the point P, where P is :

(A) (a,b)
© (1, 1)

(B) (b, a)

(D) (l,—b) ay
a F
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290 log sin(:tl + iy) BT ifOwfead wrm 8 29. The imaginary part of log sin(x + iy) is -
(A) tan” (cot x coth y)
(B) tan”'(tan x tanh y) (A) tan’(cot x coth )
: ¥/((:§ tan'l(cotxtanh ./ | (B) tan’'(tan x tanh )
(D) tan™ (tan x coth y) (C) tan'(cot x tanh y)

(D) tan”(tan x coth y)

30. AR P =720 FM "C, = 120 B, @ r B 30. If"P, =720 and "C, = 120, then the value

HE & - ofris:
A) 1 (B) 2 (A)1 | (B) 2
3 |
) D)4 ©3 D)4
31. 2f&STH @ FT e wer fARmmawen 31 The work done by gravity on a stone
¥ FealeRd: 9 fRar eI 59 having a mass of 2kg during the 5t
DTS H§ THATHY T g Fd Frd second of its vertical fall from rest, is :
B -~ (A) 864 Joule (B) 864.36 Joule
(A) 864 St AB) 864.36 T - "

(C) 648.36 Toule (D) 486.36 Joule
(C) 648.36 5ot (D) 486.36 St v/ | :

32. af2(0,0) (3 _TI) 3R (3 EJ T g & 32. The polar coordinates of the vertices of a
A2 ) ,.6 tn'amglej are (0,0), [3,EJ and(B,EJ. Then,
et & gdr s &, ar B gem - | 2 6
(A) T By e iengee s N e W,
Gy O
B) wfRaTg P (A) right angled triangle 4,
) HHATg I}"_ﬁ‘_" ; (B) isosceles triangle G ,\'E’\ e
(D) STYH F | P Tl (C) equilateral triangle A ;ro,b
s, 7
(D) none of these “ao

33. afe (x+2) 3R (x=1) @A® x> +10x*> 33, Ifx+2 and x — 1 are the factors of x° +

+mx +n B OHFEYE B, 9 m ARn B 10x* +mx + n, then the values of m and n
AF HAY: BAT — are respectively
((A) 5 3R -3 =, (B) 17 3R -8 (A) 5 and -3 (B) 17.and -8
©7R-18~"  @IIR-19 (C)7 and 18 (D) 23 and -19
» M- ,L‘ G-y =
"o . o T Taied W W53 p:urigt*‘ —*}‘—r
T. . L . )-1". } ¢‘-:ul+u\l
‘ ‘ 8=

) 9 ® TG-07/D
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3. afx p ek Q 3 wHed &, 1 (P-
Q(Q - P)U(PNQ) BT —

LY
2 @ ®)Q
) Q) (37
@ +;_\1+\L) k(cliPf\Q ,\/(Dj PUQ v
. 35.

1
e x+—=2 & @ x3+L1Hﬂ‘IT={3’mT
X X

(A) 64"
(C) 8%

(A)P;Qcosece \(@P=Qsin0
(CO)P=QtanB+. _ (D)P=Qcos B8V
o

37.

e x+iy= ::Z B, a xX+y? &1 AE
BN — '
a2+b2 a2+b2
\}A) c2+d2J ® 2y d?
(C) ad—be @) [2=
a+ib
38. afx P 3R Q 31 W0 9= € f& PUQ =
P, @ PNQ &1 AF BRI -
wr  ®o ‘
(C)‘b/d (D) Sudad # | B1g &
; ly . Ly m
4 x} 4" o 22,
TG-07/D LRSS 10

)
4% «('a""k) &a*\“z 1y lon)

L)
» 2450

RS

(1,2,3) u(s PV (4)

34.

35.

36.

37.

38.

If P and Q are two sets, then
(P - Q)AQ - PYu(PNQ) will be
(A) P (B)Q
(C€)PNQ (D) PLQ
1 .
If x+l= 2, then the value of x’ +—;3-IS
x
(A) 64 (B) 16
©)8 (D)2
Two forces P and Q are acting at a
particle. The angle between the forces is
0 and the resultant of the forces is R. If
the resolved part of R in the direction of
P is 2P, then
(A)P=Qcosec® (B)P=QsinB
(©O)P=Qtan 6 (D)P=Qcos O
If x+iy= —a+f-b , then the value of
V¢ +id
Xy is — 2
24 p2 2,32
A a +b a +b
( ) C2+d2 (B) Cz+d2
(C) ad-be (D) 2=
; a+ib
If P and Q be two sets such that
PUQ =P, then PNQ will be
(A)P (B)Q
. ©¢ - (D) None of these
(a5 H(oab)

(01 4344 18%) (G e V)

A
_qya¥ 6549 4 (@w

2
5% 4 oty ant o 24t 4 2ab™

) 0743 4 AL (a4) 4 2qb(q4 b
i) (a4 )

a3y oth 43 yapty 20 paan

I\

_wiﬂﬁ QQb—Q-qqg)
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39. g BT AP ' —

(B) 3w
(D) dree

(A) s~
N T
40. nfHE d r% a9 ) R I BN

FARIRT A &Y For areraft *q aiffas fared
ST B BT A & —

A r

N/@\)ﬁ'r?\‘ﬁ= x
{ ( 100 ) 100
100+r
A r

X
(100]“ 100
1+ —
r .

s

(B) frw =

(©) farecr = 100A %
mA
Rk

@R 100

41. Ife xy=a’ IR S=bx+c’y, M a,b
3R ¢ 3R &, o S @7 s 719 8r

_AB) 2abc

(D)a+b+c v

tA) abc
(C) 3abc

42" grafaE W Be f(x)=V9-x* @

N & —
A0, 3 (B) [-3,3]
(©) [-3,0] D) [0,9]
N 11

39.

40.

4]1.

42.
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Google Play

Units of power is :
(A) Joule
(C) Watt

(B) Ohm
(D) Volt

The formula for finding the annual
instalment, when A is the amount taken
on loan, where r % is the rate of interest,
n is the number of instalments, is :

(A) Installment = A gt
100 .)“ 100
10041
(B) Installment = A X —
100 ] 100
1+ —
r
100A

(C) Installment = ——
r

mA
Installent =
D) e 700

Ifxy=a2andS=b2x+czy,Wherea,b
and ¢ are constants, then the minimum
value of S is :
(A) abc .
(C) 3abc

(B) 2abc
(D)a+b+c

The range of the real-valued function

f(x)=v9—-x"is

(A) [0,3]
(©) [-3,0]

(B) [-3,3]
(D) [0, 9]
w.u.'w_ youtube. ¢co m/

Viaid IV = cnpm 0
Joeagralio~h
e g’
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43. 1)"° . , 43. The coefficient of ¥ in the expansion of i
f?qz(x2+—) & yaR ¥ X' F S N
BT ’ (x2+—) By
— X
Yy .
(A)11 (B) 12 (A) 11 (B) 12
(C)20 y .20 (C) 20 (D) 120
44. B e P 0 ‘ 44. - - A r
GRS ¢ =4i -5] +11k &1 AU © — Modules of vector ¢ =41 -5j+11kis:
(A)9 _(BY9V2. (A)9 (B) 92
(€) 93 (D) 10" ©) 93 (D) 10
R T Y e 0T s T L. e U S P RS S
afe a=6i+4j+4k AR b=2i+4j+3k If a=6i+4j+4kand b=2i+4)+3k,
Ts’f,?ﬁbx;ﬁqﬁ?l‘lﬂ:— : thenthevalueofgx;isi
LK) 41410716k (B) 41 +10j 4168 (a)4ir10j-16F (B) 47 +10] + 16k
(C) 41+10j-12k (D) 41 +10j+3k (C) 41 +10j-12k (D) 4 +10j+3k
46, WaEd )’ =dax wraferd AAIGROT 46. The parametric equation of the parabola
2 m:_ \/({\c/ y =4ax is
(A)x=a:;y=20; )X a!;,y=2a$/ (A)x=at,y=2at (B)x=af,y=2at
(C)x=af',y’=a (D)x—q ,y =4at Q) x=af’,y’ =af (D)x=ar, y = 4at
16-25+121
Sremma’ e yattabe comy
" 30 ~ 7 VM gyanprakash
JTEO
&+
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47. TP Ba f(x) fFrafafea afe |
o 2 -

f(x)=—x,x<0
=x,0<x<l
=2-x,x21
a9 T H f£(x) B -
AA) x=03R x= 1 W wad

(B) x=09R §ad 3R x=1 W Iqgaqd
(C) x=0 W I¥ad 3R x=1 R gaq
(D) x=03NR x = 1 W argadg

48. Wwwﬁw$wﬁmvﬁaﬂ
7 ®, R yrafere gfiexorx =

y=2cost,z=sint & | FHT IT @‘TT =
&) —e” i-2 sint}'+cost1:t

B) —e™ i+2 cost}+sint1:ts/

(©C) € ?—25int}+ Cosik

(D) €'i+-2sint j—costk

49. cosh’z—sinh’z &1 7191 € -

(A) cosh(2z) \/(Bj 1‘/

(C)sinh(2z) - (D)0

50 afy FHIFROT X — 1267 +39x 28 =0
o1 GATOR. A& H 8, T AR SE B
HA—3fR BN —

(A) 12 (B)-12
54

(C) 39 \-(B}Z

GET IT ON
Google Play

47. A function f (x) is defined in the
following way :

f(xX)=—x,x<0

=x0<x<l

=2-x,x21
In this case, the function f(x) is.:
(A) continous at both x =0 and x = 1

(B) continous at x = 0 and discontinuous
atx =1

(C) discontinuouz at x = 0 and continous
atx =1

(D) discontinuv ; at both x = 0 and x = |

48. A particle moves along a curve whose
parametric equations are x = e,

y=2cost,z=sint. Its velocity is :
(A) —e” i) sint}+ costk
B) —e” i+2 cost;‘+ sinsk
©) € -2 sint;'-h costk
(D) €' i+—2 sint;'— costh
49. The value of cosh’z — sinh’z is :

(A) cosh(2z) B)1
(C) sinh(2z) D)o

50.  If the roots of equation

x’ = 12x* + 39x — 28 = 0 are in A. P, then
the common difference of the A. P. is :

(A) 12 ®)-12
©39 <1y vm.,(,l.?.),;,,, S

- 1

\...

A ]
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51. L wpe b ool Bl o Titemy 51. The value of
3-48 VB-4T J71-V6 J6-45 5-2 1 : ) I
_ I U U S by
{1 BRI P iy S R Jo-45 V5-2
AR5 ®)3./
A)S (B) 3
(©)2 (D) 1 - (A)
(©?2 @)=
i tion
¥ 2 -1 3]|[x] [9 52. The solution of the matrix equa
9
e (11 1||y| =|6| T Ea R 2 -1 3y~ -
L=l 1]|z] |2 L1 Ly =)0
_ 1 -1 1)|z 2
\/(A)x=1,y=2,z=3 (A)x=1,y=2,2=3
B)x=0,y=1,z=2 (B)xzo’yzl,zzz
O x=2,y=1,z=0 (C)x=2,y=l,z=0
D)x=3,y=2,z=1 D)x=3,y=2,z=1
534 uﬁwqﬁmmaxz+(za 3);?_ 53. Iftheequatlonofacuclelsax2+(20 3)372—
4x—1=0 B, A SHBT Bw B8N — : 4x— 1 =0, then its centre is :
2,0
(A) (1, 1) (B)(2,0) A (L 1) (B) (2, 0)
2 2 ;
ot -=0 2
A (3’0)‘ (D)[ 3 J ©) (3,0] (D) (——,o)
3 3
54. e sin® + cosecd =2 &, T sin’6 + S54. If sin + cosec® = 2, then the value of
cosec’® &1 AT BRI — sin®0 + cosec®® will be :
(A)1 ®2" e
% D)2 (A) (B)2
55. % 1250 UR 8% alfies et @ X W 2 ¥ 55 The difference between the simple
¥ R TS Uq Ahgly &S BT SRR interest and the compound interest on
BN — Rs.1250 for 2 years at 8% per annum will
: be :
a@ (B)% 12
- 20 (A)Rs8W ”V”ut
@v1s D)% i 'GB)‘*Rmm/
kg @XZ 260 (C)Rs.15 OB R sk as
: ; f‘? Y
1
8 21
1250 (14 ,-;;o) 76
119 % Tgf) l#e5s®
TG-07/D 4 0
@L,LS“ os 9
g,ow?’f
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56.

|

57.

58.

&
3

59.

,/(6)333 of gt

aF y=x> AR W@ y =49 R & @1
B BRI —
(A)32fﬂf‘s'iﬁ\'§/ (B) 16 a1f 3&1d

(D)%aﬂsmé

A TR g =27+ j+3k AR
b=3i-2j+k B g9 44 &1 PO

BT —
(A) 30" (B) 450X
(C) 90° (D) 602~

. T .5t . In !
sin—-sin— -sin— @] G&H® T4 8
18 18 18

\/LB)/%../

1
(D) 3

(A)O
1

© 3
'lin‘l[;vccosx—lzog(l+x):|a_-,T a4 % ot
ca i

(D)0

15

57.

58.

GET IT ON
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—

The area of the region bounded by the
curve y = x and the line y = 4 is :
(A) 32 square unit  (B) 16 square unit

(C)% square unit (D) 15% square unit

- A 2 A - & A .
a=2i+j+3kand b=3i-2j+kare
two vectors. The angle between them is :

(A) 30° (B) 45°
(C) 90° (D) 60°
The numerical value of
. .5t . Im .
- sin—-sin—-sin— 18
18 18 18
, 1
(A)0 (B) -
. 8
1 1
) = ol
©) A | D) 3
 The value of li@[W] is
1
(A)1 (B) -
2
©)3 D)0

\N\A'w,\!tgutu_uhﬂ ram/
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60, tH fag W @M add @9 F@ R 60. “If three forces acting at a point be in
e | 8l O AP 9o, 3 Q) 9 B equilibrium, ~ then ~ each force 1s
B PT B D FHMUT Brar g proportional to the sine of the angle
SUIG YWI P HET I & — between the other two.”
oy Gl The above theorem is known as :
AB) Y BT wr”
(C) TR &1 Wy (A) Pythagoras theorem )
(D) eftees &1 i (B) Lami’s theorem
(C) Kummer’s theorem :
(D) Hamilton’s theorem %
o
L af ] a1 61. 1 1). :
= (*]Han (—)?HT il The value of tan™'| — +tan"(-)1s I% o
. 2 3 5 35 8
£ N\
P (A) ®)7
| n \/
©) — : il
3 Vaj) 4 ©) i (D)E
3 4
" f(x)=3cos® x + 4sin® x + cos > + sin > - 62. The maximum value of
) 2 f(x)=3cos x + 4sin? x + cos= + sin >
BT I 99 & — = b's cosi+sm—
(A) 4 (B) 3+2/ is :
y4+ﬁ (D) 5++2 (A) 4 B) 3+2
(©) 4+42 D) 5++2
63, afe Ud 99 195 fhoiriey g @7 B4 §  63. Ifabus covers 195km distance in 3 hours ,
| 3 °C T4 TH VTSI B 300 fbeimiiex and a train covers 300 km distance in 4
ERU ﬁ§ FHHA ﬁé:nd‘c’f A 8, df S9! hours, then the ratio of their speeds is :
] 'Glﬂqm —
: ' (A)13:12 B)12:13
(A)13:12 : B)12:13 © 1315 s
\913315\/ (D) 15:13 L PRI z 1(D) B
~ 1% ;?0'5 PRIV T (z
i ooy -
1y + st
/
w"— M\\ﬂ&) w_t‘,' M‘)’
TG-07/D 16 $
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64. x*—xy - 2" 3R 2x% - xy —y* @ "Weagq  64. TheH.C.F. of x>~ xy — 2y* and

HAYAd® B — i )

(A) % —y B)x+y 2x“—xy—y“is:

(©)2x -3y (D)aiefams # & B T (A)x-y (B)x+y

(C)2x -3y (D) none of these
65, /eI (0} & IuwHea B - 65. The subsets of the set {0} will be
A
e e {032 Wo B4 0
66. fagail (1, 1,-1) 3R (2,3, 1) ® ﬁTFﬂef 66. The direction cosines of the line joining
aﬁﬂmaﬁ%m aﬁwq% the points (1, 1,—1) and (2, 3, 1) are :
121 111
A) —,=,— B) =, —
W 333 ®333 @By =24 @y 1Lk
i 12 3’373 3’373
CjieL = = St
\(/)f'3 3 @) 333 o L2z o112
3'3°3 37373
67. a-b-c 2a 2a 67. The value of determinant
- gRfOTH 2b  b-c-a 2b Ea)
2¢c 2c c—a-b a-b-c 2a 2a 2 5
S 2b b-c-a_  2b |is:
2c 2c c—-a-b
(A)a+b+c (B) (a+b+c)
L«:/)w+b+c)3 ™o _~ (A)atb+c (B)(a+b+c)
) ©@+b+c)’ (D)0
68. x'+x*425 @ UAETS BT — 68. The factors of x*+x*+25 are :

(A) (¢ + 3x + 5) 3R (’62—3’{+ 3) (A (P+3x+5)and (P —3x+5)
(B (4 3x+ 5) AR (4 3x-5)  (B)(*+3x+5)and (¢ +3x-5)
,%x2+x+5)aﬂ'\'(x2—x+5)‘ (C) 3+ x+5)and (* —x + 5)

(D)(x2+x+5)3ﬁ?(xz'x—5) (D) (x* +x+5)and(x -x-9)

YIS A3+ S

XM 4 satpextt? AL 498 4 5

2t (AL4s) 5 (1D ExLypn 23
(al4s) (%) v

17 TG-07/D
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e
L

69. TR x=cosa+isina 3R y=cosp+isinf  69. [f x=cosa+isinaand y=cosp+isinp,

& 22 &1 5 B - then the value of ~—2is :
x+y x+y _
-B

(A) tan[%] \/é) tan(aT—B) (A) tan(%] (B) tan(a2 )

\)Q)' itan[aT_B] (D) itan(a-p) (C) itan(a;ﬁ] (D) itan(a—ﬁ)
70. 70,
RIE f(x)=sin"[§x—-;— l—sz, Iff(x)=sin"[i2_3lx—% l_xz],
xe[ % ]ﬁ af(x)mqﬁm - xe[:—;—,l],thenf(x)willbc

\}/ﬁm B x (B) sin l(x_gl (A) sin '(x——] (B) sin l(x_g)

_(©) sin (x-—) (D) sin '(x—%] (C) sin '(x——)' (D) sin '("‘g]

71.
P Ay f)=1+x* & weaq 1 Integral of f(x)—\/l+x with respect to
R

— x is :

(A) %x(1+x2 )3/2 +k
-\/(B*)/%(l+x2 Vo sk
©) %x’(1+x2 )% N4

(D) %(l+x2 )y2+k

(A) %x(l+x2)%+k
®) 2 (147 Yok
(C)%f(ux2 )%+k
(D) %(1+x2)y2+k
72/ T =R & YE GERT T T Frefg 72. The graph of a linear

€quation in twb

T & - variables is :
(A) T g (BY T el YTy A e
(C) T® waaa (D) U% Adqa (A) acircle - (B) a straight line
(C) a parabola (D) an ellipse
) .’.’ 1 \p e ."F-','f‘,-rr,/
 GYene sy gg

- TG-07/D 18
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73¢ s T 49 HeR/[pv8 B A7 W AT
¥ 30° B PV W oyl FH oarh })
AfS THad W IHHT G BT i~

(A)490+3 rex / (B) 24543 #reR
2453
\_J,(}) 5 Hrex (D) ﬁi
74. |
Ife x=cosB+isind 8, ar x" +— @1 71
BNIT - !
(A)2cos 6 (B) cos no./
+4C) 2 cos nO (D) 2 sin n6
75. cosO+ising)*
\/(icose+sin9) 1, T BT =

(A) cos40 + isind® (B) cos860 + i sin80
‘}(;) cos80 —isin80 (D) cos46 — i sin46

76.@@@3#3?{4”]31:37\?

3i+ -k dA @R | §9 IR B
27 +3k Si+4]+k TB

ﬁwﬁaﬁﬁ' éaﬁn’a‘ﬁg éﬁ?%m

T Hrd BN -

(A) 20 3HTS

(B) 30 @1
(0 o sost”

77. gt P4y — 6x— 14y + 48 =0 3R x*+)7
Y-
“6x =0 @ swafrs wi¥fal # wen erft

(A0 = e ()]
(©)2 D)
Q 19

GET IT ON
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73. A ball is projected with a velocity of
49m/sec at an angle of 30° from the
horizontal. Its range on a horizontal plane
is

(B) 245+/3 meter

24543
7

(A)490+/3 meter

245I

meter

(®)) meter (D)

74, If x=cos9+isin0, then the value of

gy
x" =18
X

(B) cos nf
(D) 2 sin n®

(A)2cos O

(C)2cosnb
75. cosO+isin6)4.
— ——|is

The value of [ - -
icos@+sinB

(A) cos40 + i sin40  (B) cos86 + i sin80
(C) cos80 —isin80 (D) cos4f —i sin46

76.  Two forces 4i + j— 3k and 3i + j - k are
acting on a particle and hence the partlcle
is displaced from the point i+2j+ 3k to

the point 5i+4]+ k. The total work
done by the forces is equal to :

(A) 20 units
(C) 40 units

(B) 30 units
(D) 50 units

77. The number of common tangents to the
circles x* + y*— 6x — 14y + 48 = 0 and

x2+y2—6x=0is:

(A)0
(C)2

B) 1
(D)4

2ol m
Le 0

vith gyanprakash
TG-07/D
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P
1 u"

Wy 'é\-qf bs‘\/
2 GO
;S 3 L/\o
78 uf% uig Aafdddl @ HHL HAAT 144 78. If the heights of 5 persons are l44cm,
A, 152 I, 151 I, 158 T, 3R 155 152cm, 15lcm, 158cm and 155cm
TN, B, A AIEE SHarg anfy - respectively, then the mean height is -
(A) 155 ¥, (B) 150 &) (A) 155cm (B) 150cm
(OY152 ¥ V(D) 148 (C) 152em . (D) 148cm
. AR 0 TR U @ (1-w+ 79. Ifwisa cube root ofurlit}’,ztheﬂ the value
©?) (1 +o0 -0 FT a9 8 — of(l-o+0d)(l+o-0’)is
A) 1 .
EC)AJ adly W4 i) e
NS (D)4 C) 4 (D)4
800 g H 1+r+r2+00+ ..., 08 - 80. Seriesl+r+P+r+...... o is
(A) |r|<l$mmaﬁw%| (A) convergentfor|r|<l
B) r21% forg e TIHH T (B) divergent forr>1

(©) r<-13 fo e TP B (C) oscillatory forr < -1

| (D) all of these

8L n Iqudl arl W=y # IUEHeT B FT 8l A set containing n elements, has exactly

& ... Bl B — ... Subsets.
(A)n° NUEAS @)’ B
©n D)n+1 | (©)n D)n+1
— ;
82. qazar; g}iﬁfiy +by+c P TH-—= H 82 ;:ﬁbl;:g;h z}f; Tebylitlgs;:ecmm of the
(A)a (B)b (A)a B)b
* e ©c @) L
a

wu.'w.vmrtube.com/

Sedy, | 3
-J'huu,,.
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ARk s fen=0 @A [rod 831t f(0)+ f(-x)=0, then [ /() dt is
B8R —
(A) T® YT Borg (A) An odd function
“(B) TH 99 HoT (B) An even function
(C) T& 3naeit W‘f (C) A periodic function
(D) ST & § B 7 (D) None of these

84. I <ddga &1 Wi, Rrgat ta A1 84. The equation of an ellipse which has a
(6,7), PRIGT x +y+ 2 = 0 73 S s focus (6,7), a directix x + y + 2 = 0 and
3

g . V3 eccentricity \/_1'3:’ is :
\%?;zz—zxy+5y2~76x—ssy+506=o i )
) 5x%— 2xy + 5°— 76x — 88y + 204 =0 (A) 5x*—2xy + 5)°— 76x — 88y + 506 =0
(B) 5x*— 2xy + 5)*— 76x — 88y + 204 =0

(C) 5x>— 2xy + 57— 76x + 88y + 204 = 0

2 2 =
(D)5x2—2xy+5y2=0 (C)Sx—2xy+5y—76x+88y+204—0

(D) 5x*— 2xy+ 5)° =0

85. 6i —3i 1 85. 6i —3i 1
afe |4 3 —1=x+iy®, @x AR y. If |4 3i -l=x+iy, then the
20 3 i : 203 i
BT {9 BRI — ‘ values of x and y are :
Wx=0y=0  ®x=0y=1Y  (aioy=0  @)x=0y=1
(C)X=O,X=—1 D)x=1y=-1 C)x=0,y=-1 D)x=1,y=-1
86. gfe TSRO 3x—8xy+h =0 T fAsfua 86. If the lines represented by the equation
YET TREAR oA &1, ark @1 JH 3x*—8xy+ky’=0 are mutually
2 — perpendicular, then the value of k is :
A1 (B)-1
A)l -
' ©)-2 D)3

f 1., ‘ ~ oy P
> {;“ ava : /
J}m.',;“-,;\.ash

© ' 21 TG-07/D
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87. ufe AABC t& wwarg frpa 2, fraad 87.

20 4ot
3a"
al?s

STl 2a, B, O 39 MY o & awrd
ghfY -

(A) av2

(B) a3
©) ay5 (D) a
88. 3n/ $ 88.
dx
% 1+ cosx A B o
(A) 1 (B) -1
(©)0 @72Y

89. afy sina + sinf = a 3R cosa — cosp=b &9
Y owar tan[a;B) BT HA B -

(A)a+b (B)a—b
_a b/
©-3¢/ O

90. .
Wf(x)z\/l—-\/l—w/l—xz FT U § —
(B) {x|x>-1}

(A) {x|x <17/
© 1[0, 11v

@)1, 1]

L/ af2 i +A—z+i=0, 8, al z| sram 9L

| (B) -1
(D)3

&2

©)2

TG-07/D
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If AABC is an equilateral trian_gie w.ho'se
side is 2a, then the length of its altitude

IS:

(A) a2 (B) aV3
(C) a5 ’ (D)a
s
The value of I % 18 :
2, 1+cosx
Y
(A) 1 (B)-1
©)0 (D)2

If sina. + sinf = a and cosa — cosf3 = b,

“‘B]wm be
2

then the value of tan(

(A)a+b B)a-b

a b
© -7 () -~
The domain of the function
f(x)=\/1—\/1—\/1—x2 is :
(A) {xlx<1} B) {x|x>-1)
© [0, 1] D) [-1, 1]

Ifiz3+z?'—z+i=0, then the value of

|z| 1S :

(A)1
(€)2

(B)-1
D)3
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s a b+c a’ 92. Factors of the determinant
ARP&  |b c+a bE| B AT a b+c a’
c a+b ¢ b c+a b
&— c a+b ¢’
“AA)(a-b),(b-c),(c-a),(a+tb+c) (A) (a-b), (b-c), (c—2), (a+b+c)
(B)@+b),(b+c), (c+a), (a+b+e)r” (B)(a+b),(b+c),(c+a),(a+b+c)
(C) (a2+ b),z(b —2C), (C it a), (a +b+ C) (C) (a 4 b), (b _ C), (C + a)’ (a +b+ C)
2 y
D)@+ DXY +0) @ +2) (D) @+ b), (6" + ), (& + )
93. 5 2 1 93.
a=‘ BLAl a T q19 &1 — If5 e ll,thénthcvalucsofaare:
a 2 |3 2 a 2
(A1 (B) +2 (A)£1 (B) £2
\/(E)iﬁm/ (D)+4 (C)£3 | (D) + 4
94." fingst ABC # 3afe ZA=120° TAAB= 94. Ina AABC, if ZA = 120° and AB = AC,
AC & a1 ZB 3R £C & HH;: AF 81 then the values of ZB and ZC are
—_ respectively :
- 30°, 30" 15°, 75°
AK) ®) (A) 30°, 30° (B) 15°, 75°
(C) 30°, 60° (D) 30°, 120° ‘
(C)30°, 60° (D) 30°, 120°
95. ‘T 1 st | 30° BT W fopar &an 95. A force acts at an angle of 30° with
& oft afewr feem & Swa faafm am horizontal. If its resolved part in
10V3 fapelrum ¥R &, @ T8 ol B - horizontal direction is 103 kg-weight,
(A) 20 freiTam R then the forceis :
__4B) 10 faseiram AR v (A) 20 kg-weight " (B) 10 kg-weight
(C) 2043 fFeam IR (C) 2043 kg-weight (D) 12 kg-weight
(D) 12 e AR
. §
jo+q T = W A+3 h i
qt'= -1 ) 13" @
= ()
G= -~ 2

244 : : o \Qh ,
Q
lo73 23 » TG-07/D
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a-bxe b-cxa c-axh

- - > - —>—>+—» N Eal "
cxa-b axb-c bxc-a

BT —

(A)1 (B)-1

(©?2 NDEZ

97. afd n urpfas wwge &1 AT S,, ITB
gi?ﬁS],SzW S3,ﬁmm:—

AA) 9S; =8,(1+88,)

(B) 957 = 5,(1-85,)
(C) 982 = 85,(1-58,)"

(D) 957 = 5,(1+585,)

98. “afs AABC % ¥ B &7 fderna (0,0),
AB =2, awc:% JRBC @ w7 fag
;rmﬁésﬁa;(z,ma ar Brgst @ =feae

1 3

(A) (1,-1) (B) (5"2"*]

5 1 V2 1
o5zl %)

99. afaRTA [-m,n] H FHHIOT cos’x + sin® x— 1

=0 P IRAME TA B FE&T & —
(A) 1 (B)/
y (D)7
jA248= G
e e
TG-07/D EC— 24

96.

97.

98.

99.

If [; g Z] =1, then the value of

abre biexa, caX s
cxa-b axb-c bxc-a

(A) 1 (B)-1

©)2 D)3

If the sum of n natural numbers is Si, the
sum of their squares is S; and the sum of
their cubes is Ss, then the relation among

S1, S; and Ssis ¢
(A) 957 =5,(1+8S,)
(B) 957 = 5,(1-85,)

(C) 957 =8,(1-58,)

(D) 957 = §,(1+58S,)
In AABC, the coordinates of B are (0,0),
AB =2, ZABC = g and the middle point

of BC has the coordinates (2,0). The
Median of the triangle is :

(A) (1,-1) (B)( f]
5 1 V2 1
© (_J?’_J?J @ )( 3 3}

The number of real solutions of the
equation cos’x + g,m4 X~ 1'=0 in the

" interval [-m,m] is :

(A) 1 ®) 3
€) 4 (D) 7
www youtube .com/
..,'J.~;‘,- 9,"‘*."

“'\u)

O

1
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Y/%qv ')‘rZ/L{f L’ﬁs/c L‘}‘\Y“ 7:)

100. afz PQ 3R R &N =y ¥ @ 100. IfP, Q and R are three stes, then which

- FEffrm iy PR w2 = of the following is correct?
(A) PU(QNR) = (PLQ)(PR) \/ (A) PU(QMR) = (PUQ)N(PNR)
(B) PA(QUR) = (PUQ)(PUR) (B) PA(QUR) = (PUQ)N(PUR)
AEPUQNR) = (PUQ)N(PUR) | (C) PU(QAR) = (PUQ)N(PUR)
(D) PA(QUR) = (PMQ)N(PNR) R ' (D) PA(QUR) = (PNQ)N(PNR)
0L V2 v s & — | 101. /2 is a number
(A) aRa \’eB)/wu\/ (A) rational (B) irrational
A (C.) ATEIIP R (C) natural (D) integer

102. o . 102. 5 2 s 8
uﬁﬂﬁ?la:ﬁ—ﬁ—k iR wfewr If the vectors a=2i-3j-k and
3=f+4]‘—21€ & PBrge a1 <1 gomait b=i+4j—2k represent the two sides of
P el a8 @ 9 B 31 any triangle, then the area of that triangle
SAHS B — is:

1. | c %
(A) 5232 RRIEEZE (A) —;-\/232 square units & %
(B) 4234 CURELIE] '/ (B) /234 square units e ):_
e : -t
(C) v250 Er'f (C) V250 square units r
. B 7
1 20
\JD)/EV%O CUE-LaH (D) %\/230 square units 3;;( )1
o
(")
103. an 103. - =
. HT HE B — The value of lim is: %
}’mg n+r . ""‘”; nt+r '
LAY log. 5 (B) log. 3 (A) log. 5 (B) log. 3
(€)0 D)1 ©o (D) 1
104, oy e 2+ j+k AR I-4j+rk 104 4t the  vectors  2i+j+kand

v g orEad 8 @ A BT A é!ﬂl - i—4j+2kare mutually perpendicular,
(A) 1 ._/GB) 2 _ then the value of A is :
© 3 (D)4 (A) 1 (B)2

© 3 (D)4
o 25 TG-07/D
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105 siftyqraera 16x* -9y *=1® fag (2,./7)
R e &1 gfrewer g -
(A) 32y +97x =47

va) 32y +9V7x = 50V7
(C) 32y +9/7x = 1~/ '
(D) 32y +9J7x =247

s fsin“x-cossxdx BT 9 BT —
AA) 0 (B) -1

©)1 (D) n

107 WEROT ax’+ 2hxy + by + 2gx + 2 + ¢ =
0 s Jfdurasry Fefig svmafy —
(A)a=b3dRh=0

_AB)ab-h <0/

(C)ab-Hh=0
(D)ab-h>0

108. afy ¥ftexor X’ —ax+ 1=0F & q@ 2 108

+i &, 1 a &7 A &M~

(A)2 B4
©)1 (D) 8/
109. /frafafea % & @19 d=1g ygfy it 79 109,
e’ T2 .
) weras (B) 7
(C) wrfegasT (D) 9§D
TG-07/D

26

105. The equation of the

n 5 gLns
' Thevalueofjosm”x-cos xdx is:

GET IT ON
Google Play

normal at the point L
2.
(2.47) to the hyperbola 16+ -9y =1 |

IS ©

(A) 32y +9WTx =7
(B) 32y +9WTx =507
(C) 32y +97x=1
(D) 32y +9W7x =247

(A)0 (B)-1
©)1 (D)n
The equation

ax* + 2hxy + byt + 2gx + 2fy + ¢ = 0 will
represent hyperbola if

E— AT A S =g

(A)a=band h=0
(B)ab—-h <0
(C)ab-h=0
(D)ab—h>0

If 2 + i is a root of the equation

P—ax+1 =0, then the value of g is :
a2 (B) 4 :
©)1 (D)8

Which of the following is not a measure
of central tendency?

(A) range
(C) median

(B) mean
(D) mode
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110.

3

d’ d>
SR L JH:[QJ 0@

dx’ dx?

e &

AD3 (B) 2
©1 D) 6
N s farew &

€ T wefRes & @
ﬂa@lﬁﬁﬁﬁ‘?&‘@mﬁm,a‘i‘cﬁé’mﬁ
Zﬁwméﬁng_{zgmmw
S fhde, 15 wew
B AR Gea, 12 W gear ok
e @ 8 wewm frde, @ ak
B AN Fea 8 I eeifte O
ﬁﬁﬂmaﬁﬂw%_

(A) 76 (B) 49
oS (D) 41
112,
V343 245 45
ARPE |15 +426 5 10| @
34465 V15 5
q49 8N —
(A)5 . V(nfsﬁ(\/g—s)./
(©) 543 ©) 5336 +5)/
113. 3fasel FHHRT

&y\ () -x@) N
(dx’) +[dx] +sin (dx +y=0 @1

uid g —
(A1

27

110.

111.

112.

113.

(A) ]

The order of the differential equation
3 2.,Y
& y+x2(uj =0is :

dx® dx’
(A)3 (B) 2
() 1 (D) 6

Of the mefﬁbers of three athletic teams in
a school, 21 are in the cricket team, 26
are in the hockey team and 29 are in the

football team. Among them, 14 play 4

hockey and cricket, 15 play hockey and
football, 12 play football and cricket and
8 play all the three games. The total
number of members in the three athletic
teams is :

(A) 76 (B) 49
(C) 43 (D) 41
The value of the determinant

Ji3+43 245 45

VI5 +426 5 J10}is
3+465 15 5

(A)5 ®B) 5v3(V6 -5)
(©) 53 D) 5v3(V6 +5)

The degree of the differential equation

(%j +(%) +s'mx[%)+y=0is:

(B) 2

©)3 (D)6

TG-07/D
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114, A o2 1 114.
Mg 405213 R (L y) R e
BT GHHIT §
-, ,\L\" y:v' _
" (A)?“FF—I
®) =X 2oy 1~/
a b
©) -V(-\‘a—zx) +y();y)=1
(D)@Jy;)z:o
a b
5. Afe fix +y, x - y) =xp & A flxy) 3l 115,
fy,x) BT FHR qg 811 —
(A) x B)y
90 D) xn .~
116. afy (x + a)" & waR ¥ Qw7 ygi &1 @/ 116.
P T 9 U=l &1 AT Q &Y, @l (x +a)* -
(x —a)*™ & |19 BRI -
(A)P+Q B)P-Q
(C) PQV/ . (D)4PQ
117, f&f) &1 ® o daf & - &fow @ 117
‘ FEarr Ao 9rr P ek Q € o s«
&1 gRomAT R — |
(A)P+Q BY P+ oIS
OP-Q (D) {p*-0*
TG-07/D 28

t at the point
2

i x Y =tis:
(x,y) tothe ellipse = + o »

The equation of the tazngen

_J’lel

xx'

x-x y=V _

a b

x(x-x) yO=¥) _
© TR+ B =1

a

(B)

D) (x'z)2 +(_y;)_2 -0
a b

If Ax + y, x — y) = xy, then the arithmetic
mean of f{x,y) and f{),x) is :

B)y
(D) xy

(A)x
©)o
If in the expansion of (x + a)", the sum of

odd terms is P and the sum of even terms
is Q, then the value of

(x+a)y"—(x— a)’™is :
B)P-Q
(D) 4PQ

(A)P+Q
(C) PQ

The horizontal and vertical resolved parts

of forces acting at a particle are P and Q.
The resultant of the forces 1S ;

L ®) Jpi g
Sl © {p*-g*
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118 \fPs vl 3+4i 8-6iaR 13+9;& 118. Nature of the triangle formed by the

Frof ﬁ?@ﬁ q T et ﬁ'rgm B P points representing the complex numbers
for anfy 3+4i, 8-6iand 13+ 9iis:
A) THaTg Bw
( ) / (A) equilateral triangle
\AB) W g . .
©) (B) right angled triangle
(D) ﬂﬂﬁiﬁvﬁ'ﬂ! F«:ﬁ (C) acute-angled triangle
(D) obtuse-angled triangle
119. - & L 119, |» T I
afR lal=5, la-bl=8 3R |a+5/=10 If la|=5, |a-b/=8and |a+B8|=10,
8, A |b| BT 7T B - . thenthevalueofz is :
(A) 1/ \B) 57 (A) 1 ®) V57
©)3 (D) V42 ©)3 (D) V42
20 o0 leslemz| @ hxozm @ 120 Let y=x|+|x=2]. then the value of
; i )
aﬂ'mm_ %atx=2is:
(A)2 ®0v
(A)2 B)0

\./'( L @)1 (C) does not exist (D)1

12L x2_y2,x3_y3ai’r?x3—x2y—xyz+y3m 121. TheL.C.M. of x¥* —)%, x* - and

T WA ¥ - £y —xP s

(A) (x+y)x =)+ +17) i

B) (x+y) (x—y) (A) (x+y)x -+ +xp)

€T AN E P B) G+ -)°
(D) (x + y)x —y)'O¢ + Y = x) (O - Y )
(D) (x +y)x =)’ +y* —x)
Www.youtube.com/
tudy with gyanprakash
® 29 TG-07/D
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122. gfe g & =1+x* & WA P ygorar 122. If m be the slope of a tangent to the curve
m B, ar - e’ =1+x?, then
A) [m][>1 B)m< 1" A) [m|>1 B)m <1
©) | m|<1 \(})wg\/ ©) | m|<1 ®) |m|<1
123. N Tl R U - G 123. The value of the cross product
q as” a— a—+ ﬂl??l JIUF“ Ly o -> -
- > - > (;’-Z]x(“b) of two vectors a—b
(a—bjx(aﬂyj HT A BT —
N and ;+Z is :
A)a2-b’V  A@By2axb ' L N
e 2 i 4 (A)az—-b2 ' (B) 2axb
(C)axb (D) bxa : o
(C)axhb (D) bxa
124. A £ 124. B z2 -1,
afg z=¢", &1, @ PT AE9 B — If z = €", then the value of ——is:
. ’ 22 +1 A
(AT Ttan 0./ (B) tan 6 (A)itan 6 (B) tan 6
. . 2
(C)icotH (D) i sec” @ (C)icot 6 (D) i sec® 0
125. fa=5 (a sec ¢, b tan ¢) TR Ty 125. The equation of the tangent at the point
Xy (@ sec ¢, b tan ¢) to the hyperbola
a_z_b_zzla%wsﬁmﬂﬁww% 2y
—2-——2=1 1S
a
X Yy _
\/(’Kj ;secd)—;tancb—l (A) isecq:b—ztamb:l
a b
i _Z. -—
(B) asec¢ btan¢ 0 (B) Esec‘b—%tamb:O
x ¥y N
© ;sec¢+ b tan¢ =0 © fsec¢+%tan¢=o
x y - |
m@) > s i (D) fz—seccb—blztancb:O
WWW.youtyh
. SPe.comy
1lra2lkagh
- 30
TG-07/D ®
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